
Dg380−6A, 1

System: ORS18
Buntton: h*J = 92/360; h*B = 272/360

Adaptiertes (a) CIELAB ( C*ab,a, L* ) und relatives CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c*lab* = C*ab,a / C*ab,a,M

M = Maximalfarbe
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Dg380−6A, 2

System: TLS00
Buntton: h*J = 92/360; h*B = 272/360

Adaptiertes (a) CIELAB ( C*ab,a, L* ) und relatives CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c*lab* = C*ab,a / C*ab,a,M

M = Maximalfarbe
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Dg380−6A, 3

System: FRS06
Buntton: h*J = 92/360; h*B = 272/360

Adaptiertes (a) CIELAB ( C*ab,a, L* ) und relatives CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c*lab* = C*ab,a / C*ab,a,M

M = Maximalfarbe
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Dg380−6A, 4

System: TSL18
Buntton: h*J = 92/360; h*B = 272/360

Adaptiertes (a) CIELAB ( C*ab,a, L* ) und relatives CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c*lab* = C*ab,a / C*ab,a,M

M = Maximalfarbe
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Dg380−6A, 5

System: NLS00
Buntton: h*J = 92/360; h*B = 272/360

Adaptiertes (a) CIELAB ( C*ab,a, L* ) und relatives CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c*lab* = C*ab,a / C*ab,a,M

M = Maximalfarbe
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Dg380−6A, 6

System: NLS18
Buntton: h*J = 92/360; h*B = 272/360

Adaptiertes (a) CIELAB ( C*ab,a, L* ) und relatives CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c*lab* = C*ab,a / C*ab,a,M

M = Maximalfarbe
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Dg380−6A, 7

System: NRS11
Buntton: h*J = 92/360; h*B = 272/360

Adaptiertes (a) CIELAB ( C*ab,a, L* ) und relatives CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c*lab* = C*ab,a / C*ab,a,M

M = Maximalfarbe
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Dg380−6A, 8

System: TLS70
Buntton: h*J = 92/360; h*B = 272/360

Adaptiertes (a) CIELAB ( C*ab,a, L* ) und relatives CIELAB ( c* lab*, l* lab*)

l* lab* = ( L*  − L* N ) / (L* W − L* N )

c*lab* = C*ab,a / C*ab,a,M

M = Maximalfarbe
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